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And let him derive this - 7Y% PIEIMm

Overview

"2 27 taught that a p>p1 is not N2na vynn. The XM explained that he mentioned
»°P7 (and not 112Y) to teach us that even though 0>Xnn, nevertheless he is not Y021 it
and therefore it is not v¥»n. The X3 then asked, let him derive that the PP is not
Suan since it is a XM Yapnia 127. Our Moon discusses this question.'

- ARMIV Y2PNT DIV YN 1INRT V2’ Bx HraN
[The explanation of the s'k7%3 question is] even if he is Hvan the PP to the 1om,

it will not block the 78" from expanding since the PP is 8% 22pm, and the rule
is that a IX™I07 192 PXIT IR IRMIV D2pRa 72T —

nooIn asks:
- (WY X,037 97 P9IN AVITNI NP PO NINTI NNV ARMIV YaAPN KD I1N N’ HVIY ON NI

And it is astounding; if he is %van the p°p1 to the 1o, it will not be mx@w Hapn

anymore, as is evident in 201977 MW7 P90 -
- 0N D¥912122°0V N’ 503 NAIWY NTNOY NINY NI ININT

Where the X713 states; ‘A ball of sourdough which he set aside for sitting, is
nullified (and not considered 7Xw anymore), and a house which was covered

with seeds in their stalks are 29917, they are not AW 22pn -
= 7ANPIV YapM Y 7YVAT 11 NPYN

It is evident that since he was %v2» them from being food they are no longer »ap»

' Seemingly *21 21 did not give any reason why the p°» is not 119m2 ynn, so how can the Xn3 ask 72 P12°M that it
is a IRMY 22pni 127; who says that this is not the reason why byan 1R?!
% The n"a77 M7 amends this to read oX 1°98 w98 (instead of OX 17°0K).
? The X3 previously asked why state 7 and not 72y, which is a greater ¥ 7 (see previous *X» 7"7 'o\n [TIE
footnote # 3]), and the X3 answered that there is a greater wY7°n by 2’1 for since it is 0°Xnn he may be Yvan. The
X3 therefore asks that the whole issue of Hvan is irrelevant, for since it can be aXMY Yapn it is not yXI1, so the
original question remains why state p°p7 and not 72v. This may explain the word '"w171°9', which the 1727 nmiaan
inserts. See (however) ‘Thinking it over’.
* Mmoo just explained the s'xm3 question to mean that even if he is Svan it still will not be Y1, since it is a 727
TRMI 22pnn, but this is not so, for once he is Pv2n it from being food, it no longer is axmY 72pn.
> Once he designated this ball of sourdough to be used as a chair it is no longer considered Mxw (which one may not
have in his possession on 1109), but rather it is considered to be a chair and he may keep it in his mw1 (and it is also
not XMW 23pn anymore [as a food] since it is 202 from being food).
% He covered the roof of his house with stalks of grain, so even the grain in the stalks cease to be considered >y
(which normally are &m0 92pn) and are 237 that they cannot be X 22pn since they cease to be considered P7IN.
" How can the xm3 ask (see footnote # 3) that even if he is 9van, it is still not yXI7 because it is 78nW 92pn, when in
fact once he is 2021, it is no longer I8 Hapn!
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FIRMIY; the same should be here regarding the P°p7 that once he was v2an it (since it is 0°Rnn) it
should no longer be nxmw 22pn!

moDIN answers:
— DUYN MNPV 1N TaPT 111D 292910 DNNT 9D VU

And one can say that there (in 20177 7w P7D) it is a case where he did an act

to change the food into something else -
- SnaunNa ANMIL YPY 1799 BIYHN 93 (3,33 97 maw) PPN NAT

For the mwn states all utensils become capable of receiving 821 by thought

alone -
- 911\09): 9139W 1299247 1PUINA P40 NI AWYN MY 219 DY NIN ANPIVA PINY NI

But it does not leave it status of being 7N®= 93Pk, only through a mwyn »Mw,
and the same law which applies to utensils applies to food that we require a
SRV W in order that it should cease being 19221 —

moDIN proves that by 1221 we also require a 7wyn "W to remove them P22 nNNA:
- (@wr &, 97 NDT NP P93 NN PYaIND MTa 195aNT

For it is evident in the first P99 of 77210 noon that even regarding the ‘hands’ of

food -
$NYYN MYV N1 ))PyaT P9 IINT NI NIINT

That there is a Xin who requires wyn» % by m7 that they should cease to be 2apn
R, so certainly all would agree that by actual food we require a Awyn "W to no longer
consider them food.

Summary
For a food not be considered food any longer it requires 7wyn "W, however 202

mawnna alone 1s insufficient.

¥ A "9 does not become Xnv unless it is a finished product. In certain instances the decision whether at this point it is
a finished product or more needs to be done, depends on the person. If at some point he decides 7awnn2a that it is
complete, then it can be XMW 2apn.
? Therefore by the 1w N2 where he was 7™ it 72°w°% (by shaping it in a certain way) and by the 2°y71,where he
placed them on the roof to become roofing material there was a nwyn "% and therefore they are not nxmw 93pn,
however here, he merely placed the 7> in the window with the intention (perhaps) to eat it later, nothing was done
to indicate that it is no longer considered food, so even if he was 7van it 72wnna not to eat it, that is not sufficient to
remove it 991X N7INA, since there was no WA,
10 3598 M7 refers to the stem of a fruit (or stalk of grain) which is attached to the fruit and is a ‘handle’ how we
hold the fruit. If the M7 are detached from the food they are not nXmv 3pn, however when they are attached to the
fruit they are considered part of the fruit and are XMW 93pn (even if the axmY touched them alone or the fruit alone
in all cases the M7 are Xnv).
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Thinking it over

From noon (introduction and question) it seems that M50 understood the
question of 72 719°M as a continuation of the previous discussion (whether there is
a greater W17°1 by p°p1 over 1ay), and therefore mooIn asks his question.'' However
it is possible that the X723 is asking a new question (regardless whether it is p°P7 or
72v); what is the v17n of *21w ', it is obvious that it is not vY»n, since it is an 2R
which is 7xm0 %2pn, and something which is IR 22p7 is not 7RMAIVIT °192 rxin! '

1 See footnote # 3.
12 See mwn nbm.
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